@j w %@6) Z Expoentes negativos de 10

Nome: Encontro: Data: Pontuacio:
100D = —2x10% =
-1x10° = 1003 =
631,8x 1077 = 386,9 x 1004 =
~1x 10" = 853,3 x 1004 =
764,5+ 100 = 1003 =
9x 10" = 1009 =
7x 1079 = 100D =
107 = 352,7 % 1002 =
618,7 x 10* = 2 x 10% =
100D = 1002 =
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?j w Qb@& Z Expoentes negativos de 10

Nome: Encontro: Data: Pontuacao:
1077 =0.1 —2 % 10% = —200
—1x10° =1 107 = 0.001
631,8 x 107 = 0.6318 386,9 x 10 = 0.03869
~1 x 107 = -0.0001 853,3 x 107 = 0.08533
764,5 + 10% = 7645000 107 = 0.001
9x10°=9 107 = 0.0001
7% 107 = 0.007 1077 = 0.1
107 = 0.001 352,7 % 107% =3.527
618,7 x 10> = 61870 —2 x 10* = —200
1077 = 0.1 1072 = 0.01
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